
3i!�  V7y] W=]NeVi *VqV q! V__Ny]Vqy!W7

VW*ieF qi�!z
yt���ts�$Btsj V�B8${ et���k V��t{k

z$�tts� VZR��$s
eT8s$jU V�q�,B% {s$s�s�B��

���������
	 �
�������
���������������
���
��	 �
�����
�����
	 �
������	 �
���������
��� �����"!#�����
�$��������	 ����%�&�'(�)���*������+
�����
��,-��.0/0����	 �)��%��������
	 &0���1�����������
��!#�2!-�-3 ���
	 �
���
��%4������3 ���2� %-���
��/#����	 �)��%���5-���*�
���
!����
!#�����
	 �����
�6�
���*�7��%-	 ���98:�����2�)�)	 �
�������
����%��������
��	 ���*�7�2�����2�
������!-�2���2�7�)�
�������
��	 ��+
������������8<;6�<%��)�
���
��	 ���=�)�������(!-���
�2�7�)�
������/>��3 �
��?<�����2	 �@�
�A���23 ����3 ���)	 �
���7������%��*�
��&#�
!#���
� �
���7��%68>B1�(	 ��!#����	 �A����C���	 �������*�����A�
�0���
�7!-3 �).(������3 �����:%-���)�$�2��%=�)���1�����������2�)'=�
�
�
���*���
3 ����3 ���
	 �
����%-��!#����%����
�9�
�����98A;6�=����D
�"���23 ����3 ���
	 �
��� � �����
	 &-3 �2/��
��������	 C������ ����E2�
&#�����F%-��E2��3 �2!0��%G���@����%-�����9�)�����2�7�
���
����� 	 �-� �2�
�����
	 �
�H	 �F����E2���
�23A������!���8HIJ�F�
�������
3 ���)�)�����9�����
���*�
���(%-���)������%-���)�)	 ���4�����)���-	 C������7�����=&��
	 ��,�'@%���������	 &#��%6/���	 �
�K���7!-�����
	 �
�
�(�
���"��3 �2���
	 5������
	 �
�����
�L�
���"%-���
�7�����
��3 �
	 ��?=� ���
�M	 ��%#	 E�	 %-���
30������!-��8

d yt��BIZ{�$Bt
i�s{�$Bt �s��R BP t�Z��Bt $t���s{�$BtR b$�Y 8s���� s�� �Y� ,�k }s�s8����R
BP $t����R� $t tZ{j�s� s}}j${s�$BtR RZ{Y sR ��s{�B� {B�� I�R$�t {sj{Zjs�$BtR�
RY$�jI$t� }�BAj�8R� s{�$%s�$Bt� AZ�tZ}� ��{� qY�k s�� }s�s8����$R�I Ak �Y�
t�Z��Bt 4Z-� bY${Y I�R{�$A�R t�Z��Bt }B}Zjs�$Bt stI tZ{j�s� Is�s� bY${Y
I�ht� �Y� }�B}���$�R BP �Y� 8�I$Z8� i�s{�$Bt �s��R I����8$t� 8BR� B�Y�� }sT
�s8����R BP $t����R� j$,� �Y� t�Z��Bt 4Z�t{� s� s }B$t� $t RY$�jI$t� }�BAj�8R�
8Zj�$}j${s�$Bt Ps{�B� stI }Bb�� I$R��$AZ�$Bt $t tZ{j�s� ��s{�B�R� ��{� ]BtR$I��
PB� $jjZR��s�$Bt s tZ{j�s� {B�� I�R$�t {sj{Zjs�$Bt� qY� t�Z��Bt 8Zj�$}j${s�$Bt
Ps{�B� stI �Y� t�Z��Bt 4Z- I$R��$AZ�$Bt ZtI�� %s�$BZR B}��s�$t� {BtI$�$BtR
t��I �B A� {sj{Zjs��I ��}�s��Ijk� V jBt� {Ys$t BP {sj{Zjs�$BtR t��IR �B A�
}��PB�8�I� b$�Y $t}Z� }s�s8����R �Ys� I�R{�$A� �Y� ��B8���k� 8s���$sj {B8T
}BR$�$Bt stI �Y� t�Z��Bt tZ{j�s� Is�s w$��� �Y� {�BRR R�{�$BtR� �Y�$� �t���k
I�}�tI�t{�� �t���k R}�{��s stI st�Zjs� I$R��$AZ�$BtR BP R�{BtIs�k }s��${j�R
��{� PB� sjj tZ{j$I�R BP �s{Y 8s���$sj �Ys� {BtR�$�Z��R �Y� sRR�8AjkD� 3B�
RY$�jI$t� {sj{Zjs�$BtR �Y� Rs8� Is�s s�� ZR�I �-{�}� �Ys�� $t sII$�$Bt� }YB�Bt
$t���s{�$Bt stI {BZ}j�I t�Z��BtT}YB�Bt stI {Ys���I }s��${j� $t���s{�$Bt Is�s
s�� RB8��$8�R ��JZ$��I�

WZ{j�s� Is�s PB� $tI$%$IZsj $RB�B}�R s� }s��${Zjs� �t���$�R BP $t{$I�t� }s�T
�${j�R {st A� 8�sRZ��I �-}��$8�t�sjjk� B� �jR� �Y�k s�� }��I${��I Ak tZ{j�s�
8BI�j {sj{Zjs�$BtR� =RZsjjk st �-}��$8�t� }�B%$I�R s R$t�j� }s�s8���� %sjZ�
w$���U �Y� {�BRR R�{�$Bt s� s }s��${Zjs� �t���kD B� s� 8BR�� �Y� {�BRR R�{�$Bt
A�Ys%$BZ� B%�� s �s�Y�� j$8$��I �t���k �st��� 3B� �s{Y ��s{�$Bt �Y� {�BRR R�{T
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�$BtR s�� R��Bt�jk �t���k I�}�tI�t� stI �s�Y�� I$^{Zj� �B 8BI�j B� }��I${�
stsjk�${sjjk P�B8 h�R� }�$t{$}j�R� VjRB $t s ��sj$R�${ R$�Zs�$Bt Bt� t��IR �B
{BtR$I�� s 8$-�Z�� BP s tZ8A�� BP 8s���$sjR� qY���PB�� �Y� t�{�RRs�k s8BZt�
BP $tPB�8s�$Bt $t{��sR�R �tB�8BZRjk� qY$R $88�I$s��jk �s$R�R �Y� PBjjBb$t�
}B$t�RU
T $t B�I�� �B BA�s$t RZ^{$�t� Is�s� s %��k js��� tZ8A�� BP �-}��$8�t�R
8ZR� A� }��PB�8�I� yt���ts�$Btsj {BjjsAB�s�$Bt stI Is�s �-{Yst�� s��
�RR�t�$sj�

T R$t{� �Y� s8BZt� BP Is�s $R js���� $� 8ZR� A� }��R�t��I $t {B8}Z���T
��sIsAj� PB�8�

T bY�t tB �-}��$8�t�sj Is�s $t s {���s$t �t���k �st�� �-$R�� Bt� 8ZR�
��RB�� �B �Y�B���${sj 8BI�j {sj{Zjs�$BtR stI �Y� RkR��8s�${R w$P stkD $t �Y�
{�BRRTR�{�$Bt A�Ys%$BZ� BP tZ{j�$ b$�Y R$8$js� {Ys�s{���$R�${R w$��� R$8$js�
}s�$�k $t �Y� tZ8A�� BP t�Z��BtR stI }�B�BtR� ��{�D�

T bY�t 8B�� �Yst Bt� 8�sRZ��8�t� �-$R� PB� s JZst�$�k� �s{Y 8�sRZ��I
b$�Y s {���s$t ���B�� st �%sjZs�$Bt $R t�{�RRs�k �B BA�s$t �Y� XA�R� �R�$T
8s��" %sjZ��

T �BZ�$t�jk ZR�I {B8}Z��� {BI�R PB� RBj%$t� ��s{�B� {B�� stI RY$�jI$t� }�BAT
j�8R s}}�s� $t $���s�$%� }�B{�IZ��R stI {B8}Z�s�$Bt �$8� $R {�Z{$sj� 3B�
�Y$R ��sRBt �Y� PZjj I��s$jR BP �Y� �t���k I�}�tI�t{� BP }s�s8����R s��
tB� �s,�t $t�B s{{BZt�� *s�s ��IZ{�$Bt ��{Yt$JZ�R s�� t�{�RRs�k�

yt %$�b BP �Y� sAB%�� �Y� PBjjBb$t� �sR,R sRRB{$s��I b$�Y �Y� tZ{j�s� Is�s {st
A� $I�t�$h�IU
d� AsR${ tZ{j�s� Is�s }�BIZ{�$Bt�
1� tZ{j�s� Is�s �%sjZs�$Bt�
n� �%sjZs��I tZ{j�s� Is�s }�B{�RR$t�� %��$h{s�$Bt� %sj$Is�$Bt stI A�t{YT
8s�,$t��

;� tZ{j�s� Is�s s}}j${s�$BtR�
qY� 4Bb BP $tPB�8s�$Bt $R I$R}jsk�I R{Y�8s�${sjjk $t 3$�Z�� d�

qY�R� �sR,R b$jj A� I$R{ZRR�I $t 8B�� I��s$j� RB �Ys� �Y� j$t, A��b��t
�Y� Is�s }�BIZ{�I Ak st �-}��$8�t�sj$R� stI �Y� ��RZj�R BP ��s{�B� {B�� stI
RY$�jI$t� {sj{Zjs�$BtR {st A� PZ��Y�� �jZ{$Is��I�
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1 V{�$%$�$�R VRRB{$s��I b$�Y WZ{j�s� *s�s

1�d  sR${ tZ{j�s� Is�s }�BIZ{�$Bt

e-}��$8�t�sj 8�sRZ��8�t�RU qY� ��JZ$��I �&B�� Bt �-}��$8�t�sj 8�sT
RZ��8�t�R $R �tB�8BZR�  k $t���ts�$Btsj {BjjsAB�s�$Bt w�Y�BZ�Y ���Zjs� R{$T
�t�$h{ 8���$t�R A��b��t Is�s }�BIZ{��R stI ZR��R� stI �Y�BZ�Y ts�$Btsj� ��T
�$Btsj stI $t���ts�$Btsj tZ{j�s� Is�s {B88$����RD �Y� �sR, BP Is�s }�BIZ{�$Bt
$R Ps$�jk b�jj {BB�I$ts��I� qY� ZR��R sRR�RR �Y� t��IR stI �-}��RR ��JZ�R�R PB�
t�b B� 8B�� s{{Z�s�� Is�s� yt �Y� }sR� RZ{Y ��JZ�R�R b��� {B8}$j�I stI }ZAT
j$RY�I }��$BI${sjjk Ak �Y� yVeV $t �Y� GB�jI ieJZ�R� j$R� PB� WZ{j�s� *V�s
GieW*V � � �B�� ��{�t�jk s 8B�� RkR��8s�${ stI �$�B�BZR s}}�Bs{Y �B �Y�
{B8}$js�$Bt BP �Y� <$�Y _�$B�$�k i�JZ�R� N$R� bsR $t$�$s��I Ak �Y� WeV *s�s
 st, wR�� X��}U]]ddd!v�u!Q�]X�9l]R|%�v|�]d}�|]D� yt �Y$R bsk jsAB�sT
�B�$�R� bY${Y {st }��PB�8 �-}��$8�t�sj 8�sRZ��8�t�R Ys%� �Z$I�j$t�R� bY${Y
{st Y�j} �Y�8 �B }jst �Y�$� s{�$%$�$�R� RB sR �B 8s,� �Y�$� ��RZj�R I$��{�jk
ZR�PZj �B �Y� Is�s ZR��R� ]Z���t� stI }jstt�I s{�$%$�$�R BP RB8� jsAB�s�B�$�R
s�� {B8}$j�I Ak �Y� WeV *s�s  st, � �
WZ{j�s� 8BI�j {sj{Zjs�$BtRU yt ��{�t� k�s�R s {BtR$I��sAj� $8}�B%�8�t�
YsR A��t s{Y$�%�I $t �Y� {s}sA$j$�$�R BP �Y�B���${sj 8BI�jR � �B }��I${� �Y�
{�BRRTR�{�$BtR� <Bb�%��� �-}��$8�t�sj Is�s s�� �B A� }��P����I A�{sZR� �Y�
tZ{j�s� 8BI�jR s�� R�$jj tB� RZ^{$�t�jk s{{Z�s��� AZ� �Y��� s�� {sR�R bY��� �-T
}��$8�t�sj Is�s s�� tB� s%s$jsAj� wPB� �-s8}j�� PB� $RB�B}�R bY${Y s�� I$^{Zj�
�B BA�s$t $t RZ^{$�t� }Z�$�k� �s}$Ijk I�{sk$t� $RB�B}�R stI Is�s $t �t���k
�st��R bY${Y 8s,� �-}��$8�t�R 8B�� I$^{Zj� stI j�RR ��j$sAj�D� yt RZ{Y {sR�R
tZ{j�s� 8BI�j {sj{Zjs�$BtR s�� ZR�I �B $t���}Bjs�� B� �-��s}Bjs�� �-}��$8�t�sj
Is�s� �B ��RBj%� I$R{��}st{$�R A��b��t I$&���t� �-}��$8�t�sj Is�s stI �B }�BT
%$I� RB8� Is�s wsj�YBZ�Y b$�Y ���s��� Zt{���s$t�kD PB� 8s���$sjR� PB� bY${Y
�Y� �-}��$8�t�sj Is�s s�� js{,$t� sj�B���Y���
*s�s {B8}$js�$BtU VR }�BIZ{�I� �Y� ��RZj�R BP �-}��$8�t�sj 8�sRZ��8�t�R
stI tZ{j�s� 8BI�j {sj{Zjs�$BtR s�� R{s�����I $t %s�$BZR }ZAj${s�$BtR stI Y�t{�
$t{Bt%�t$�t� �B s{{�RR Ak s ZR��� qY� t��I PB� s Is�s AsR� bY${Y bBZjI $t{jZI�
sjj s%s$jsAj� �-}��$8�t�sj %sjZ�R YsR jBt� A��t ��sj$R�I� V� }��R�t�� �Y��� s��
PBZ� WZ{j�s� *s�s ]�t���R� bY${Y ���Zjs�jk {B8}$j� stI Z}Is�� RZ{Y s Is�sU
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WW*] PB� =7V stI ]stsIs ws�  �BB,Ys%�t Ws�$Btsj NsAB�s�B�k�
=7VD�

]F* PB� iZRR$s stI PB�8�� =77i {BZt��$�R ws� !At$tR,� iZRR$sD�
WeV * PB� G�R� eZ�B}�st {BZt��$�R stI Fs}st ws� yRRkTN�RT�BZT

j$t�sZ-� 3�st{�D�
yVeVTW*7 PB� sjj B�Y�� {BZt��$�R w$t z$�tts� VZR��$sD�
es{Y BP �Y�R� {�t���R {B8}$j�R �Y� tZ{j�s� Is�s }ZAj$RY�I $t $�R s��s� qY�
{�t���R �Y�t �-{Yst�� �Y� Is�s Bt s ���Zjs� AsR$R� RB �Ys� sjj Is�s s�� s%s$jsAj�
�B sjj ZR��R� ���s�Ij�RR BP �Y�$� ��B��s}Y${sj jB{s�$Bt�
*s�s AsR� PB�8s�RU *Z� �B �Y� js��� s8BZt� BP $tPB�8s�$Bt� �Y� Is�s AsR�R
8ZR� A� 8sts��I $t s {B8}Z���$9�I bsk� VjRB� �Y� PB�8s�R PB� Is�s R�B�s��
8ZR� A� b�jj I�ht�I �B sjjBb sZ�B8s�${ Is�s 8s$t��tst{� stI Is�s ����$�%sj�
3B� �Y$R }Z�}BR�� R}�{$sj PB�8s�R �-$R� bY${Y {st s{{B88BIs�� sjj ��j�%st�
$tPB�8s�$Bt sABZ� �-}��$8�t�sj 8�sRZ��8�t�R stI stsjk�${sj 8BI�j {sj{ZjsT
�$BtR� qY� ]yW*V hj� $R s {B8}$js�$Bt BP ��P���t{�R ��js��I �B t�Z��Bt tZ{j�s�
Is�s stI $R ,�}� Z}T�BTIs�� Ak �s{Y BP �Y� PBZ� Is�s {�t���R� y� $R }ZAj$RY�I
sttZsjjk $t }�$t��I PB�8 Ak �Y� yVeV � � y� $R sjRB s%s$jsAj� Bt �Y� yt���t���
PBjjBb$t� �Y� }s�Y �B �Y� WZ{j�s� *s�s ytPB�8s�$Bt 7kR��8 Bt �Y� yVeV:R WZT
{j�s� *s�s ]�t��� YB8�}s�� s� \X��}U]]dddTvIR!%u�u!C��]\� qY� e�3!i
hj� � {Bt�s$tR �Y� s{�Zsj �-}��$8�t�sj ��RZj�R stI B�Y�� $8}B��st� $tPB�8sT
�$Bt t�{�RRs�k PB� �%sjZs�$Bt BP �-}��$8�t�sj Is�s� qY$R $tPB�8s�$Bt $R sjRB
s%s$jsAj� Bt �Y� Rs8� yt���t�� sII��RR $t %s�$BZR PB�8R�

qY� PBZ� t�Z��Bt Is�s {�t���R 8s$t�s$t $I�t�${sj 8sR��� Is�s hj�R� qY�
]yW*V hj� R��%�R sR st $tI�- PB� �Y� e�3!i hj�� RB �Y� �bB Is�s AsR�R
{B8}j�8�t� �s{Y B�Y���

1�1 WZ{j�s� Is�s �%sjZs�$Bt
Vjj s%s$jsAj� Is�s 8ZR� A� {�$�${sjjk ��%$�b�I A�{sZR� RB8� 8�sRZ��8�t�R
8sk A� Zt��j$sAj� IZ� �B BARBj��� 8��YBIR ZR�I B� IZ� �B RkR��8s�${ ���B�R�
y� $R �Y� bB�, BP �Y� �%sjZs�B� �B �s�Y�� sjj s%s$jsAj� �-}��$8�t�sj $tPB�8sT
�$Bt PB� s }s��${Zjs� tZ{j$I�� 8s,� s {�$�${sj ��%$�b stI I�{$I� Bt �Y� XA�R�
�R�$8s��" %sjZ� BP �Y� }s�s8����R� qY$R $R BP��t IBt� ZR$t� RB}Y$R�${s��I
tZ8��${sj }�B{�IZ��R� eR}�{$sjjk $t ��{�t� k�s�R st �%sjZs�B� $R tB� s R$t�j�
}��RBt AZ� s ��BZ} BP }�B}j�� }BRR$Ajk P�B8 I$&���t� jsAB�s�B�$�R stI �%�t
I$&���t� {BZt��$�R� �s{Y A�$t� s R}�{$sj$R� $t RB8� }s��${Zjs� Is�s �k}� stI
�t���k �st��� _s��$sj �%sjZs�$BtR BA�s$t�I $t RZ{Y s bsk s�� �Y�t {Y�{,�I PB�
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